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Q:2- Write short answers of any five parts. (10=5x2) _Qéfagm,ﬂifr:ﬂé&aﬁ{ -2

_E AN | i) el kel | )
Define frequency. What is meant by simple Hormonic Motion.
_te dAfag 550 | (iv) elVe $WE L | (i)
What is the nature of sound waves? What is meant by quality of sound.
e 3OS LG | () E AT | W
On what factors does resistance of a Define pitch.
conductor depend?
?:.'_l_r"i';,l;?fr‘:ﬁ (viii) _é_yﬁtﬁ/_',fx:‘;ﬂ.jl (vii)
State Ohm's Law. Define electric current.
Q:3- Write short answers of any five parts. (10=5x2) -L,'[):_rf:,[.m,j"ﬁflliffél.a.df -3
_é._afj._; ,éw’:_.-”,_ﬁ; (ii)) P"‘—\:!{'l_r‘:’;rL,jEle}:ﬂ (i)
Define radius of curvature. What is meant by reflection of light?
~E AT B | ~ZE A | )
Define electrostatic induction. Define critical angle.
_& w3 (Tesla)yu= vi) e Vies 4 )
Define Tesla. State Coulomb's Law.
e VT2 | (viii) g AKS el L (vii)
State Faraday's Law. Define electromagnetic induction.
Q:4- Write short answers of any five parts. (10=5x2) -L,;J;rf:.-l,.l_a,ﬁ/_,'fl:z'él.a,df -4
—E’J-E.?.*JJE}‘.:L"-EFE (i) ?“'—-"/"-:'Ll::-"-ff/; (i)
Define digital electronics. What is meant by thermionic emission.
— - =7 a I
_E AR | Se sl e UF R i
Define information and communication ™) What is meant by logic Gates? )
technology.
E AT | ) E A |
Define isotopes. Define computer.
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o _ fe bl o= ug (viii) _ _ o ?'f—dﬁl:xz.a‘-i"ﬂ_‘-:i (vii)
What is Fission Reaction. Whatis radicactivity.
(Section-ll) (a4 4aa) )
Note: Attempt any two questions. (18=9x2) _J;LH:L.:.U!:* 2 .r:,df Ly
_ |(A) Whatis simple pendulum? r o) s e . s
5 llustrate diagrammatically the (04) | &ri g0 Sk T bfhi (O] 5
forces acting on the bob of a e B .jbr;a;;ﬂgbfﬂ}‘_;;,
simple pendulum. - =
(B) An object placed at a distance of ,_-_y"u:__, L5525 cm,_,,ﬂ_}é;-_éilf’}_é‘i (—
25cm from a spherical mirror and | (05) | °© - » -
its image is frormed behind the Sl e & Lot 5 cméL/(’f!Jw!
mirror at distance of 5cm. What will o o I.&?ﬁi'_,sﬁ
be its focal length? Unl AU
g- |(A) Describetheconstructionand (04) —i.f;'fr-":.'k!';"ﬁ:r-"/.'.;ur-:--'&:‘?' SI:

working of electroscope.
(B) How much current will an electric | (05) e B 250220V L PO (_
heater draw from a 220 V source. 5
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If the resistance of the water coil 7200 fﬂs‘.ﬂfb{bfd*l.ﬂfz_.ﬁ'
200
(A} Write down impact of ICT on el - ,
7- |"7 society. (04) _Eya W ICT e fo O 7

(B) Rn-222 has a half-life of 3.82 days. (05) A.if'z_a:_dza.ﬂz_ﬂ'u._igpf Rn-222 (—

How long before only 1/16 of the o s PP
original sample renvains? BZ o 1/4g 60+
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Model Paper Academic Session 2016-18

PHYSIC 10t (Part-ll) Secondary Time : 15
{Objective) Marks: 12

Note;-Write your Roll No. in space provided. Over-writing, Cutting, Using of lead pencil
will result in loss of maris. All questions are to be attempted.
1-  Each guestion has four possible answers, Tick ( ¥ ) the correct answer. (12)

1 | Wave which can travel through vacuum;

A Sound B | Electromaagnetic | C Longitudinal D Mechanical

2 | Imwhich medium sound travel foster;

A Air B Oxyagen C Water ] Steel

3 | The speed of light is fastest in;

A Water B Air C Glass D | Transparent
plastic

4 | The focal length of a lens is 2m. its powerwill be;

A 1D B 2D C 1p D 15D
.
A 51 unit of electric intensity;
A NC B NC -1 C HC-2 D NC2
6 | All of the followings are equivalent to watt, Except;
A (ampere)? ohm B Jouleisec C | Valtx ampere | D Ampivalt

¥ | The material which cuts down the fiow of current but does not stop it;

A Conductor B Insulator C Resistor ] Battery

& | For a step down transformer;

A Ns > Np B Ns =< Np C Ns=Np D Hs=HNp

8 | InaNOR gate cutput will be one only when both inputs are;

A 1,0 B 0,1 C 0,0 D 1.1

10 | Which of the following is an input device;

A Mouse B Processor C Maonitor 1] Speaker
11 | LINUX is a;
A Hardware B Input device C Software D | Output device

12 | What is the number of neutrons in “H1"?

A 0 B 1 C 2 D 3

{The End}




